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wiE g JEESAFRE B FHEE sec/90°
1015+ 20 0.03~0.3
RTM 30 0.04~0.3
RTMF 40 0.07-0.5
50+ 63 + 80 ~ 100 0.1~1
e 5+10 0.2~0.7
20 30 0.2~1
3 0.2~0.7
RTB 7102030+ 50 0.2~1
AL 70~ 100 ~ 200 0.5~2
300 ~ 500 1~3
RTH 40~ 63+ 80 0.8~3

HEHUXAEMERE > FAEHAERABHMNIEMNHE  BRBEREERR
BIREE - éiﬂﬁzgﬁk » FEECEETAIAE -

EEESAYEEDE
E- 1
2

EEEEARXMT

o|ow2 w

I 1815 (kg-m?)
w: AMNEE (rad/s)

6 EEAME (rad)
=3.14 rad » 90° =1.57 rad

BERE 180°

t : EEERER (s

)

20
t

6-12.9

STHHELERE

_‘W

=



A =2EHN DEELH EHEEEE

CHELIC.

K

=
=

S0 )

© LEMEAN4TEHARMNIEEIE

4x0.2%0.03°
12

=0.02 kg-m?

l1=1.5 x +0.2
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. 0.1°+0.127
12

=0.32266 kg-m?

l2=5 +5x 0.25°
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a = 100 mm
b = 120 mm
c = 50 mm
d = 200 mm
e = 30 mm
L = 250 mm
m 1 = 1.5kg
m 2 = 0.2kg
m 3 = 5kg
EEEEERE = 0.8s
EEAE = 90°
EIEWTE = RTB70
BRTEEREE
RTB10 0.007 J 0.039 J
RTB20 0.025 J 0.116 J
RTB30 0.048 J 0.116 J
RTB50 0.081 J 0.294 J
RTB70 024 J 1.1J
RTB100 032 J 1.6J
RTB200 0.56 J 29J
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